Chapter 7.1, Problem 12E

Define G: J5% J5 — J5 x J5 as follows: For all (a, b) € J5 x J5,
G(a, b) =((2a + 1) mod 5, (3b — 2) mod 5).

Find the following:

a. G(4, 4)

b. G(2, 1)
c. G(3, 2)

d. G(1, 5)

Step 1

Consider the function G :J, x.J, - J, xJ, ¥ (a,b)e J, x.J..
Let, G(a,b)=((2a+1)mod5, (36—2)mod5)

(a)

The objective is to determine the value of (;(4\4),

G(4,4)=((2-4+1)mod5, (3-4-2)mod5)

)=
(9mod5, 10mod 5)
(4.0)

Step 2

(b)

The objective is to determine the value of 6(2,1).

)=((2-2+1)mod5,(3-1-2)mod5)

=(SmodS5,Imod5)

=(0.1)

Step 3

(c)

The objective is to determine the value of 6[3.2].
G(3,2)=((2-3+1)mod5,(3-2-2)mod5)

=(7mod5,4mod5)

=(2,4)

Step 4
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(d)

The objective is to determine the value of G(I,S}.
G(1,5)=((2-1+1)mod5,(3-5-2)mod5)

=(3mod35,13mod5)
-(33)
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